Solving of parameters 3,, and 3.

For parameters 3,;, constrains in Additional file 1 can be written as:

Biro + Bit1 K1 + B2 K + Bits K3 = Bioo + Bio1 K1 + Bin2 K7 + Bins K3
Bit1 + 2Bi12 K1 + 3Bi13 KT = Bio1 + 2Bi2a K1 + 3Bi03 K7
2Bi12 + 6Bi13K1 = 28402 + 68423 K1

Bir2 =0
Solving these equations simultaneously leads to:

K2
Bito = Bizo — ?151'22
Bit1 = Biz1 + K1 Bi2

Bitz2 =0

Bins = Biaz + 3K1Bi23
i13 3K1 .

For parameters 3,5, constrains in Additional file 1 can be written as:

Bizo + Bio1 Ka + Bin2 K3 + Bizs K3 = Biso + Bis1 Ko + Biz2 K3 + Biss K
Bio1 + 2Bina Kz + 3Bias K3 = Bis1 + 2BizaKa + 3Bi33 K3
2Bi02 + 6823 K2 = 2B;30 + 68;33 K>

2fi32 + 6843332 = 0

Solving these equations simultaneously leads to:

100 + 3K2 Bio:
67;30 = BiQO +K35123 — KSM

3Ks — 96
22 + 3K 2 Bio3
’ =B 73K2 ; 3K2ﬂ122 2 M
Biz1 = Biz1 2Bizs + 23K, 06
Bizz2 + 3K3Bias
o — —Qf x 2022 T OTha 23
ﬁz32 X 3K2 — 96
Bigs — Biz2 4+ 3K3 Bias
! 3Ky —96



